THIVEE

BA L CILHKE
T EHEE COD#H! - -
Mh R A EZEid]
St.1 Z2X-HEa - —
—i%IEH _
K& (°C)
_ XiE_ (KR (°C) =E hE 2IKiR A Fiin =X B&
48 =) 10.0 18.0 — 41.0 13.0 BE | ms
64 Eh 28.0 22.0 — 46.5 10.0 BE || |
8AH Eh 30.0 28.5 — 40.0 13.0 BE meE |
108 Eh 24.0 25.0 — 35.0 13.0 BE maE |
128 Eh 12.0 19.0 — 440 12.0 BE maE |
28| £ZY 9.0 18.0 - 38.0 13.0 B E o ES
4RIRIRIBER _ _
oH DO CcoD KIBEERY In-~FHof 22% i
i (mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=&El - — — — — — —
EHE(75%E) — 7.3 0.8(0.9) 0.67 <0.5 0.16 0.023
45 == 8.2 75 0.9 0.0 <0.5 0.21 0.044
b= - - - - - - -
65 == 8.2 8.1 0.8 0.0 <0.5 0.11 0.013
b= - - - - - - -
8 g == 8.2 6.3 1.0 4.0 <0.5 0.19 0.019
8.1 6.8 0.9 0.0 <0.5 0.12 0.009
10A ; E ~ = = = — — =
8.2 7.1 0.6 0.0 <0.5 0.14 0.017
128 th B = ~ = = — — —
28 == 8.2 7.8 0.8 0.0 <0.5 0.18 0.034
hE - - - - - - -
BEEB (RBDHAEHHA)
L INIINIEDS ET) i f7 A=A T fikER |7L¥LKE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| HeqE] 001 LT | FEH [ 0.01LF [ 005LLF | 0.01LLF [0.0005LLF | FEEH JERE |
E{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 — <0.0005
41 - - - - - - - -
68l <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 — <0.0005
8A - - - - - - - -
108]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 — <0.0005
128 - - - - - - - -
2A] - - - - - - - -
ooanid | mige [1,2->o00] 1,1-CHan [Lzx-12-C4]|1,1,1-k) Al 112-ky4a | MO0
Ay ok 3 IAY IFLY OaxTFLY ox4ay oxT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E] 0.02LLF [0.0020F | 0.004LLTF | 0.02LLF | 0.04LLF 1LLF 0.006LLF | 0.03LLF
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
47 - - - - - - - -
6Bl <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8A - - - - - - - -
108] <0002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
2A] - - - - - - - -




FhS5490n(1,3-o40 = S ot FARY S . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 001LLF (000281 F | 0.006LLF | 0.003LLF | 002BLF | 001LLF | 001LLF 10LLF
E{E]  <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.12
47 - - - - - - - -
6Bl <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.11
8A - - - - - - - -
108] <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.12
128 - - - - - - - -
2Al - - - - - - -
ZTD{hIFH
RILL
Jz/—) 7] SS ey |(sookILA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE| <002 - 1 0.005 <0.001 <0.008
E3E] — — 1 <0.005 — —
4R b= - - - - - -
65 == <0.02 — {1 0.006 <0.001 <0.008
E T : ; ; - -
- - 1 <0.005 — —
Gl 7, - ; S ; ;
<0.02 — 1 0.006 <0.001 <0.008
10A ; E = — — = — —
— — 2 <0.005 — —
128 ; E — — = — — —
- - A <0.005 — —
2
Bkt | EINERE . .
(mg/1) (mg/1) (mg/1)
E¥E] 20000 - -
== 20000 - -
21000 — —
20000 — —
20000 — —
10A ; E = — —
21000 — —
128 ; E ~ — —
19000 — —
2




THIVEE

BA L CILHKE
+EHEE COD#H! - -
Mh R A EZEid]
St.2 EXR-HEY — -
—i%IEH _
K& (°C)
_ XiE KB (°C) =E hE 2IKR A Fiin =X B&
4 8 =) 10.0 18.2 — 24.0 11.5 BE | ms
64 Eh 28.0 21.0 — 20.0 9.5 B g2 |
8A Eh 30.0 28.0 — 470 115 BE | |
108 Eh 24.0 25.0 — 38.0 13.0 BE maE |
128 Eh 12.0 19.0 — 450 13.0 BE maE |
28| £ZY 9.0 18.0 - 38.0 135 B E o ES
4RIRIRIBER _ _
oH DO CcOoD KIBEERY In-~FHof 22% Ey
i (mg/1) (mg/1) | (MPN/100mD) | H¥3 & (meg/1)|  (mg/1) (mg/1)
=&E - — — — — — —
EHE(75%E) — 7.0 0.8(1.0) 0.67 <0.5 0.13 0.020
4H =B 8.2 7.3 1.0 0.0 <0.5 0.16 0.034
b= - - - - - - -
65 =B 8.1 7.9 0.6 0.0 <0.5 0.10 0.011
b= - - - - - - -
8 g =B 8.2 6.1 1.3 4.0 <0.5 0.14 0.020
8.1 6.3 0.9 0.0 <0.5 0.12 0.008
10A ; E ~ = ~ = — — =
8.2 6.9 0.7 0.0 <0.5 0.12 0.016
128 th B = = ~ = — — —
25 =B 8.2 7.3 0.5 0.0 <0.5 0.15 0.029
hE - - - - - - -
BEEB (RBDHEHA)
INIINIEDS ET) i T A=A TS fikER |7L¥LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 001LLTF | JE#H | 001LLF [ 0.05LLF | 0.01LLF [0.0005LLF | JEHH JERRH |
E{E]  <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
48 - - - - - - - -
68l <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
8A - - - - - - - -
108]| <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
128 - - - - - - - -
2A] - - - - - - - -
ooanid | mige [1,2->o00] 1,1-CHan [Lzx-12-C4|1,1,1-k) Al 112-ky4a | MO0
Ay K% IAY IFLY OaxTFLY ox4ay oxT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 0.02LLF [0.0020F | 0.004LLTF | 0.02LLF | 0.04LLF 1LUF 0.006LLF | 0.03LL'F
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
48 - - - - - - - -
68| <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8A - - - - - - - -
108] <0002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
;1 - - - - - - -




FhS40n(1,3->4n = N FARY T . BRMEERERU
IFLy |oraxy| FI34L | vIOU LI _RyEy LY ERREER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 001LLTF [0.002u0F [ 0.006LLF [ 0.003LLTF | 0.02LLF | 0.01LLF | 001LLF 10LLF
EfE]  <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.11
48 - - - - - - - -
68| <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.10
8AH - - - - - - - -
108] <o0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.12
128 - - - - - - - -
2Al - - - - - - - -
ZNihIEH
Jx/—) & ss 2ER |soofkus| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EIHE| <002 - 1 0.006 <0.001 <0.008
=B - - 1 <0.005 - -
4R b= - - - - - -
65 =B <0.02 - A 0.008 <0.001 <0.008
E T : 3 ; - -
- - A <0.005 - -
8A b= - - - - - -
108 =B <0.02 - A 0.005 <0.001 <0.008
E T : ; ; - -
- - 2 <0.005 - -
128 ; E — — = — — —
- - A <0.005 - -
2
Bkt | EINERME . .
(mg/1) (mg/1) (mg/1)
EE] 21000 - -
=B 21000 - -
21000 - -
20000 - -
20000 - -
108 ; E = — —
21000 - -
128 ; E ~ — —
20000 - -
2



